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The Relationship Between 

Current, Voltage and Power
1. [image: image3.jpg]


Set up the experiment as shown in the diagram. Ensure that the resistor or bulb has the POWER RATING marked on it.

2. Record this power in your jotter.  
3. The power supply must be set to 12 Volts. Use the d.c supply connections (red and black).

4. Have your circuit checked by a teacher.

5. Make a table in your jotters, or preferably make a similar table in excel to record your results.

	Power Rating
	Voltage
	Current
	VoltagexCurrent
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6. Take the readings from the Ammeter and Voltmeter whilst the power supply is switched on.

7. Repeat for other 12V components.

8. Complete the last column of the table by multiplying the measured current by the measured voltage for each component.

9. Record your conclusion from this experiment.

Here is an example of a table completed for one of the resistors with the corresponsding graph.

It is highly unlikely that all of your points will be on the straight line. Do not plot the point 0,0 on your graph

QUESTIONS/ EVALUATION

1. What do you notice about the value of the current when the voltage increases?

2. What do you notice about the gradient of your graph?

3. Why might your graph not go through (0,0)? Look at the equipment to give you a clue?

4. You should have found out one of the most important formula for electricity, and that is that the Voltage is equal to the current mulitplied by the resistance or as we would usually write it
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where V=voltage or potential difference measured in volts

I= current measured in amp

and R= resistance measured in ohms

Now try these questions

1. If there is a current of 3A through a 2.5( resistor, what is the voltage across the resistor?

2. A voltmeter across a power supply reads 12V, this is connected to a 6( resistor. What current would there be through the resistor?

3. What is the resistance of a resistor if a voltmeter across it reads 4V and the current in the resistor is 0.2A? 

	Voltage
	Current
	Resistance

	(V)
	(A)
	(ohms)

	0.00
	0.00
	5.4

	0.98
	0.18
	

	1.34
	0.25
	

	2.65
	0.49
	

	3.77
	0.70
	

	5.12
	0.95
	

	6.19
	1.15
	

	7.93
	1.47
	

	8.97
	1.66
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		Voltage		Current		Resistance						Voltage		Current		Resistance

		(V)		(A)		(ohms)						(V)		(A)		(ohms)
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		0.98		0.18
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		(V)		(A)		(V)		(ohms)						(V)		(A)		(ohms)

		0.00		0.00		0.00		5.4										5.4

		0.98		0.18		0.98

		1.34		0.25		1.34

		2.65		0.49		2.65
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